Projectile       10 sept 2007

c projectile trajectory   sept 10 ,2007

      data x0,y0,nstep / 0.,3., 40/

      data v0x,v0y,g/2.,3.,9.8/

      tscale= amin1(y0/v0y , v0y/g)

      tfinal=4.*tscale

      dt=tfinal/float(nstep)

      do 10 i=0,nstep

      t=dt*float(i)

      x=x0+v0x*t

      y=y0+v0y*t-(g/2.)*t**2

      print 100, t, x, y

10    continue

100   format(1x,'t,x,y=',3(3x,e10.3))

      stop

      end

Modificación para el problema del  cap 4 -19
c projectile trajectory   sept 10 ,2007

      data x0,y0,nstep / 0.,9.1, 40/

      data v0x,v0y,g/7.6,6.1,9.8/

      tscale= amin1(y0/v0y , v0y/g)

c     tfinal=4.*tscale

c run twice once with t=-1. and next with t=2.3 for example..

      tfinal=-1.

      dt=tfinal/float(nstep)

      do 10 i=0,nstep

      t=dt*float(i)

      x=x0+v0x*t

      y=y0+v0y*t-(g/2.)*t**2

      print 100, t, x, y

10    continue

100   format(1x,'t,x,y=',3(3x,e10.3))

      stop

      end

[image: image1.emf]Time of flight=0.88 s
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Time of flight =2.16 s for the portion shown below.
[image: image2.emf]projectile path
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